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Write using (a) roster notation and (b) set-builder notation.
1. the set A of whole numbers greater than 4
2. the sct B of negative integers greater than —3
3. the set C of positive multiples of 3 less than —3
Let A =(2,4,6,8,10,12), B = (5,10,15),and C = (2,3,5,7, 11). Find the
following.
4. ANC
5. ANB
6. BNC
7. AUB
8. BUC

Solve and graph.
9. 0<x—-4<3
10. —-10=x-5<-8
1L x+2<lorx+3=5
12. 2x < —2o0r3x —1>2
Solve.
13. [x—2| =4
14. |3x — 6] = 21
Solve and graph.
15. 3p| <21
16. |x + 4| <2
17. 19— r| =9
18. |4x| = 12
19. |24 — 1| >5
20. [=3y + 6] > 12
Solve each system by graphing.
21, y=x
y>x—-2
22, y> -3
x <=2
23. y —x+2<0
2y = 2> x
24, x —y>2
x+y<l
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